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ORIYA
Paper II

. (Literature)

| Time Allowed : Three Hours

Maximum Marks : 300

INSTRUCTIONS

Candidates should attempt Question Nos. 1 and §
which are compulsory, and any three of the .
remaining questions, selecting at least one

question from each Section.

The number of marks carried by each quéstion
is indicatéd at the end of the question.

Answers must be written in Oriya. *°

(Contd.)




Section ‘A’

1. 09 gor J996a VY AkAes aa Ll (g6eyR
2ERISA! 150 €10 FRIERQ 6AYRNQ 689 1) 15x4=60

(a)
(b)

©

(d)

(b)

(b)

ANRYOT PREFAE R IR AR TR 699
A 6 49 QU6 YoTe — ZICRISR! a9 |

£

Fon QU Qdoba asgg aBea AR

R AA0Y g ea !
‘CRRNCI'ER VAN YFOR 9T SRS Aa |

‘AYF QQ’6a @G QAIRIZ QA FOR ge
QERENQ JA9R gole !Q |

-

. ERIR-PIRR-69Q WA AR FRRQG

afge” — ‘@IRad’ ueanesa 1 a8 amial
eat 7 <

‘e UANYE AU’ UIRAKER 2R RNR

APe IR 99 998 ALAIFE ANGER
UQER Qe | 30x2=60

FoQI01 690910 9o B0 ‘@8G0I~ 09976R
JoTRe 62108 — 2RISR o

@9a AlIRIQ ARl ew ‘@er Fo’ /doigaq
AT 6QURIER SRR TRGA G2l |
30%2=60

D-DTN-L-PSB 2 (Contd.)



4. @) “98 Q8 cas ail evas Goiegs,
IR TG 62IR VNG, 6966696R 2AQENY
/G, 6REOCRER NRYQ NS’ A 62108 olTa
UPRE” — 4 28R 1@ F6gTA q |

(b) ‘ALEISST” RIIR galgl G 9019 2199 2RI

@0 @oe sdaediseida Jod S6994 aa |
30x2=60

Section ‘B’
5. @9 gee fugse Q°fg RSN Q! | (ge@m
AUEMSRN 150 9 FRICR 6RYIQ 609 1), 15x4=60
() ‘¢ 9688 98 68’ — @ QEe Qldee!
“0e D0@aI dIRR ZiIsaIos! o |

(b)) ‘e ﬂ@LI 6Q 6QIRYTR 2eRAR 0 @
goahe odel qa |

(©) e Ade QIgd aamia aIes ‘RS’ R
999 IReeaa |

@ ‘4 aowdl eefca gdade glefew

ol

PIeRIeda afied gelIe aa |

6. (1) ‘RO 6N 6R ERIFRIGY  6ERIQ gealgl
CREOYQ QTR 6RIAE — Toia e |
(b) “edlaud edea giadeel vee Qe 219

ANREQ QLAUT’ — 1B LRI EIG’Q]Q@GG!
Q‘&P&l dge ‘o0 aoEe QIeea miae @ |
30x2=60

D-DTN-L-PSB 3 (Contd.)



b

7. (a) “O91Q 6AI2FF QUMIAYFR JFQMUIe Q6F,
F ORQAUIR” — ‘@AId AI0FY’ TSRARER
IRIQ AN gag Qa !

(b) QAR PIFAEA 6AR 667 JIIACA VEIRDQ
699 AIRA ‘UG QUMIAER 6QERIQ
dew, OI'a gaa F6gas Qa | 30x2=60

8. (a) “QIRCEPR 98g ARIAR IPERRIEIIA
QUIAR RN AAT d8Q gIGses’’ — <
ANREQ YA FPIAS IR LA |

(b) ‘R FeY CegRe AR P8 gl
oiees delaq adiea G2 | 30%2=60

D-DTN-L-PSB - 4
4 ]




